§3.’l- L ines

L —
e

Re call o- - (
g Ca \ 1;? V\/\t \/\ A" N \‘V‘QO\’Y' ’?’V‘Y\O%Q’\ \ék = 1) X’fbj "}’HYI
by flatrng  dwa  foinks on b 9 raph of Yhiy Ivnepon o)

C_aYm?C’HYlj ’H’EW\/ W 9ed +¥e 9\&‘»\‘0}\ od e !Lvm chien ,

Gaal & Given e 309gh of Mo iy (Vo Wt ok Ywe panls

CR9,) and (X, ) )0 Find He equabion o Yo i [ve wid
1@ 40 Fnd @ geink omd bk Sloge ob Hhe i),

1. Slofe
62, E@v\o)rlay] QP#.O\ Ve (MM1F9le @@/M)

2. \OQ(%N’%‘ Cand Parqendicwlay  lived

S o 'Y e,

e —{ )~ o -

1- < lofe

o The Sloge of a Ve 4 « Mnbey  Th=t neafues iow Slogly

te Mve ir ((hew hard Yo Climb Ye A

® | AN
vV
Sge = o Slefe >0 Slofe <o o0 (undefe]

0 Con,f(\g’@{ /H‘@ Awea  Niver L A L’Z g}},\ Gre
o{l- Qa‘i"r\'mq 5\0(6)/\)% )__l hat Slo ofe el )rh%/\
L+



. Slafe hay g cley felk¥m with He dmsle between He lirw
and X- ayi.

4 e S]o(g {"\f'?SJ P O Mdes! /
e

—— 3

e i A

Ao Fem the etueyion o (Dol e Equatin Loy v, ie, D o
/

d = moA )
|

Slepe .
(Q» fom 4’1\6 ‘j(q\?)\ of Yhe ‘Wf\l}ﬂe) Ry Ao e fdn'}'ﬁ o He N

m = \Qm = 9 l orheel Change

—

ho Ny herizent) Chanse

Sfecal cag ¢ Th Varkieal Vv Yoy e

A na Slege , wWhy?)
l)‘l(l’h)
(Yllyz)
WV




YhRY

EXO&MW@.@“ F‘M& +he Skpe o4 Fre Nﬁye’c\&f@" thyough |

(V) (3, -] and (6,9)

2) (Be) el (o))

Saolwhian 3
(3,10 snd (€79)
(,\) 7{\ ‘ XL yl
M= Y)z*\\ﬁ\ _ q ~(-\) ~ \o
Xe= X1 &~ 73 T T g

-

(2) ( #,-£) snd CG/O

jL-j) | - 4 —_& ]
Ko % ] O~ (-] é | | )

Vb
f

vl =

ol
ol
i
!
I

Which preany Loy Ly ore S+_f e ™ Y‘\"QB)?%/ W Mevp

e Skef  dewn

Frercee 1+
)y (&,2) =l (1,-2)

(2.) [, /7/ an /”Q(/G) .

(D) (5/2/ and (M/I/ (1) (3/1/ o d (3,3)
/



|

9- EqveXan ok e lip

PRI

TJo ek Y eeuation O’f’ S )‘rf‘(?/ Yeu  peed e *ﬁiwd Cre

e OV ‘?czﬁvﬂ (A, }91)
o % ‘@Y€ m .

Fv ~ & - M/ X ~XH L ’ f/f@\(m, S lafe —-Pw”wz“

athor  Aom

Geveral  \ireay dam AX+hYY < =a , b hene po Covmy,
| Yadlar.

Slote- inprecept  dam WX (a)) i e Yimkseg)

. —— m i e glope.
Sfecial care vgr¥ical v {X:X.]

E Xample ;ZL’; Find o senpal Nireal eaation (9 R+hypc =q)

G{L Yre  Mine Wit dhe ﬁ@]\@w{nj ¢/ 2porh=
(\) fasres Yhiowgh ( L, -3) <nd hey J)@‘?ﬁ 3

éj\ﬁ, = m [ X=Xy
Y~z =3 (XY
Y+7= -3 X+2

JHIXN+TF -2 =0

/Wﬁ+3x+%:ﬂ




[2) fPagies Ahrewsh  (=2,4) emd (& -y)

Fitdt v £ind e Sloge M.

Yo-dr <u-y —2

m =
Xz = X §-(-3) i

=Y, = m{ X-X)

(U ERt)

4~ bp)= - Ix+3)

(3) hay Jlefr M and  Yoigdecepd Y

=M X4y
Y = Y% -y
[ Yo yxsy=o

() TS vkl and  fPagred Yhews) (=2,-7)




3. faralle) and  ferpendicnloy Lingg

TwWa LUres  oue fox/ekﬂ—e\ T

e TWo ey ane ferfendicnla, 54
m, m, = sv)-)
E?{me)le 5 DeXerms re wrethy e Ivon v are Yamle], fepferndt

o yeiter?

(9 Y=-EXt 2 awd  y- oy
dhe twe lirer @ Porqle).

M, =-&  and  om, =L, S

(2) X+3Y 4S8 =0 and Y = 13X
1Yz -~ RS
y:‘f})’\’r% VARER!
mt"'gl* Mp2p — Mym, > 32'2:‘}

S P  Awe vy ae fe/{emlicmq/.

e st

12) Xx-2:° |, Y=z
V—
A= $ hot'idental > By an  fprfendiagor

e s e e e .




Efercite 5%
(1) Xtz o AMY -Z=¢

(z) X=32 and ?_(t’z

(2) Y>Yx+7 end Y X-Y+6=a

S

f’quyle £ Find om Mt of +e  lyp

(\) \]OCU'/Q' jr\\/eug)q (2/,1) SV f?(qﬂe) Fq X‘VX—#&CO

we 1eed Yo Lind Y Slefe Lirt+, since

et Vives e focul)
'H\Qy hve th Jdane dlefe | so

(2) §)€/ﬁ€ﬂ<lfcv(qu g ZAB3ZY-2-a anl (g Yheevs),
(2,3)

PEr 25439 2= My =S
3o T-TX T

:77/337(#1 i



”ﬂn@, EINAYN o ¥)e Bve
\)\ =m | A=X

Y- 3+ Z (%-3)

I 9=6=3(43)

29~ 6 = 3%-9

2Y-3%+3 =

EAercise &5

(l) 1°°¥/<€\l»€) +a Z/X"‘g&iq{:o - qu/eJ (—~;l/,e’-)

(27 {9 adicular F 3= lg)(i,,;) and  {USeEr + ¥, 1),

ald Exam  QuesFon

(o) Fmd M Slpe and e YAudreept of 3 A+Ey - l2<0-

(vl Tl o Capaban of Yh lin fousrins Aweeh  (2,-17 ap)
facallel  ya  2Y-S-dY

(C) A Comfugy Mmenu Facker WA Predvee 2 Eaa wng vl v
frice W J7 0 and | gee umt when Hioo price v Ra PP
Fiad e Sy Cuwebiat  ashomye Y Tineoy,

\J) Tind an @quahat o He line fasging  Yhagh (21 and
Q’V{(’QVL&"\CM(«( Yo )TW g 3y+)§: 16



